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— 930 R39DY RNANR2 % 7Y
Why do I need it; one Ah’moh and a half is sufficient

OVERVIEW

The X3 asked why do the m73v need to be two and a half mnR wide; it would
suffice if they were one and a half m»X wide. There is a major dispute between
w1 and MooIN as to how the owap were placed on the Mm%y (as well as to the
makeup of the m»ay).

= SN /N DN POON YN I 1T MPNAN 1PN MY INVY 17y nUIYY
According to s'>''w9 opinion that the two wagons were separated one from the

other and there is a distance of five N\ between them -
= VYp QOVIp HY MYN 7aY NNIYL HNN 9

And each 773 separately was laden with a load of 2°w1p; there is a difficulty -
- 71N P22 SN AN 12NN NN TUY 12NNV 1723 72 YoV DIUAP P INNT

For how can the 2>w9p, which were so heavy, for their length was ten nR and

their width was an 7R and a half, and their thickness was an 7%K; so how can
these Dwp -
- 221199 NYNMY NN 72 DY TInY)

Be supported by the 1193y, which was merely two and a half ny»R wide -
= 3N)D9Y NNNNA TNYY 917X 7299 5775 9199 PIN 10 NIDDY NNNNA 2997 T

And moreover that the X713 should ask that one 7128 and a half is sufficient for
the width of the 1193v; how can such a heavy weight be supported by an 773V one

and a half "\ wide -
- S1pY P9I 197 NIY PANND 1Y P9I 1P VINRT INNPY 19 Y9

And certainly according to the one who maintains that the o°w7p narrowed

continually until they were an »axX, that they could not be supported by m>w

which were that narrow -
= NN 17V 1T T8N TONY NMVHY SNY D919 19N TNIN NIV

' See "o nn 1" >"wA. Each 793w (according to >"wA) had a total width (from wheel to wheel) of 5 nnx (2% for the
723y and 1Y% for each wheel). In addition there was a five inX separation between the inside wheels of both m?ay.
There was therefore a total of 15 nmx distance between the outside wheels of the two n12ay.
2 The middle 2 ¥ nmX of the 0w p were on the 723v. The o°wnp would then extend 3% nmX on either side of the 773y
(10-2% = 17.5/2 = 3.75). Such an overhang with such heavy o'w1p is bound to cause the o°w"p to fall off (or buckle)
on one side or the other.
3 See footnote # 2. If it were 1%, max wide the overhang would be 4% nnx on each side and would certainly fall off.
4 All the ownp were placed with the heavier bottoms on one side and the lighter top on the other side (see 7% '01n
Xr°17 1"7); the imbalance of the heavier side would tip all the o>wp off the 793y,

1

TosfosInEnglish.com



% a"7 'oIn KX,LX naw 702

And additionally how can two wagons go one next to the other in a width of

fifteen NI2N -
- SAta AT PYUPN BIWAPN 1D )9 BN

For then the 2>w2p would be hitting each other -
- 5% NYPNYI MIEND HY IN DIYANND HY DIV 1PN DIYIPIY IYITAY 9119 TPISY 1)

And furthermore it will be necessary to say according to >"v"o that the asw=p

were hovering over the tents or the courtyards above ten 25120 -
= 128¥3 4D90P2 YAV 15 NNNMI NN 73 18 Do)

Two and a half n»R on each side as >'"'w9 himself explained -
= 70N 370 ON 99 AN 1N D291 MY NNN 7D NN DIYIPN %Y TN MINY

For the length of the 2s2p was twenty MR and the 2"719 is wide only sixteen

NMI2R so the owp extended beyond the 7"77.
= IR 70 9719 RAOY 9910 17 183 97 MADIN 1N MDHY SNYT 100 N

And also from where do we derive that two n»3y were traveling next to each

other so that a 2'';7m is sixteen NMN -
= 0P 0290 MY XM I IR N 1719 mMavIn N NIY

Perhaps they were all traveling one after the other so the 2"'71% was narrower

than sixteen NINX
= 1290 YY1 0290 MHIYA NN 112 INYAIN IN

Or perhaps all four wagons traveled abreast together and the 9779 was much
wider than sixteen nMK?!

mooin offers his explanation:
= 11 2NN 1N MTHY SNVY DN 13929 AN

And it seems to the n''9 that the two N2y were attached together —

This schematic diagram may aid in following the maoin. It is showing the widths of the wheels
and the M73v and the space in between the M2y (in NMAK):

15 nmnR
2% 2% 2% 2% 2% 2%
Wheel  Wagon Space Space Wagon Wheel

= MY DYDY 115 DNAIN YAIN N2 191 HNINR 170 TIIN XY OV NINY
For there was a piece of wood fifteen n2R long, and it had four wheels just

5 See ‘Thinking it over’.
¢ See footnote # 1 (and 2).
7 The total length from the end of the WP on one 723V to the end of the wap of the other 773w was 21 NK; 20 Nk
for the two w1 and one 2R for the »7 in between. 21-16 =5/2 = 21,
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like two wagons —
= 5Dy SNYWY 15 197 21PN SHY)

And two sets of set up walls like for two wagons -
= IPNIIN /N I NDIY 19D 1T ADIY 1917 192 WITD NDHIY TIIN 11D ADIYY NDHY 1)

And between each of the two mb?ay was a space equal to the length of an 9ay;
meaning between the inside wall of this 723y to the inside wall of the adjacent

m9aY was a distance of five NN -
= 48 18 9919 NDIYN AN XD AYIYN 21N

And the sides of the 793y on the outside was equal to the entire width of the

793¥ on each side; meaning -
= NNNNI MNN NV J9IND OY nr2in! 1977’24

That the space between the 7%y wall including the wheel was two and a half

NaR -
= 18 DY ¥9329) NNN YIIY DIVNPN WITD XD

And not like >'"w92 who explained that there was an 2R and a quarter to each

side (but rather 25 nnX to each side) -
= 10719 170 102108 DY MDHIYN YNV AN

So the width of the two nY73¥ including their sides was fifteen ny»\ -
- yapa TIIND TN /5 PSR T N9 19179 PYINA It DAY 19192

And the distance from the external wall of one 1793y to the external wall of the

other 7793 was ten M»K corresponding to the length of the wap -
= 12599391 3997 YNV DY WIPN 250U 1N

And he would place down the w2y on the walls of the two noay -
=972 9% VYN 17 1T HEN T MADIN 19N ORY 1N239Y MINK MHY SNV

And two other attached n23¥ went before them, for if they would travel one

next to the other they would bang each other -
= D19 MIZNN PN N NN M

However, they travel well one after the other.
= 12%5Un NN MVHIYN DY DI DININT 2D XAV RNNNI 999V 7299 XNYM

8 Two framed boxes of 5x2%» NnX each were the two M3y on this long board.
% See sketch that each 793y had 2% N space on the inside; together there was 5 n1X space between the inside walls
of each 7723y ‘box’.
10 See sketch. 6x2% = 15.
1 Each 723w was 2% wide; together 5. The two spaces of 2Y each, gives us another 5; together there was a 10 nmR
distance between the outward edges of the two nY2ay.
12 The owp were then supported by the four walls of the two n2av; two outside walls were supporting each of their
bottom and top ends (which were flush with the outside walls of the m73v), and two more at (about) 2% nwax
distance from their top and bottom ends; which gave ample support for the o°wap. See (however) 27717 W2 (in the
a"TAn).
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And now the X 1) asks rightfully, ‘it would be sufficient if the M7y were one

and a half n»R wide’; for since the oW p are resting on two N5y
21749999 591 1DPANRT WM 11D RIT PHYT NPLD NN

We would have assumed that they will not wobble, but the X723 answered, that

nevertheless (even though they are resting on two M7y they will wobble if the 7%y
is only one and a half nX wide; we need them to be two and a half Nk wide.

SUMMARY

According to *"w9, each 1193¥ had a separate load of 2wnp with a (large) overhang.
However according to maoin, two attached Mm%y carried one load of v p with no
overhang

THINKING IT OVER

npoIN asks on "wao if the entire width was fifteen n1aR, the o°w-p would be
banging into each other.!> However we know that the width was sixteen mnx, for
there was an additional separation of one 71X for the "% 12 to go between the owAp,
so why does n1901n assume that they will bang into each other?!

13 See footnote # 5.
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